Jméno: ………………………………………
100 km =                        m
40 000 dm =                           m
150 cm =                             mm
40 km =                                cm
8 km =                                     dm
500 000 mm =                                             dm
180 dm =                                        cm
45 000 cm =                                       m
14 km =                                               m
20 cm =                                           mm
45 m =                                        cm
520 m =                                              mm
800 000 mm =                                    cm
490 km =                                           m
2 km =                                           cm
